

ABC Bid Data

STATEWIDE STRIPING (TURNPIKES)

42265

NON-FEDERAL

PROJECT: STATEWIDE STRIPING (TURNPIKES)

STATE PROJECT NUMBER: 42265

FED. PROJECT NUMBER: NON-FEDERAL **DATE BIDS OPEN:** March 10, 2022, 2:00

SCOPE OF WORK: Statewide Striping (Turnpikes)

COMPLETION DATE: May 19, 2023 LOCATION: Merrimack Awarded To: L & D SAFETY MARKINGS

CORP

304 EAST MONTPELIER RD BARRE, VT 05641-8373

Amount: \$646,496.25

Award Date:

Certified by: PETER.E.STAMNAS

Director of Project Development

Summary of Bidders

Contractor	Bid Amount	Rank
L & D SAFETY MARKINGS CORP	\$646,496.25	Α
304 EAST MONTPELIER RD, BARRE VT 05641-8373		
K5 CORPORATION	\$680,531.95	В
9 ROCKVIEW WAY, ROCKLAND MA 02370		
TMI SERVICES INC	\$1,139,895.24	С
4 MASTER DRIVE, FRANKLIN MA 02038		



ABC Bid Data

STATEWIDE STRIPING (TURNPIKES)

42265

NON-FEDERAL

				ı	PS&E L & D SAFETY MARKINGS CORP 304 EAST MONTPELIER RD BARRE, VT 05641-8373		K5 CORPORATION 9 ROCKVIEW WAY ROCKLAND, MA 02370		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Item No. **Items**

618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	45,000.00	\$1.00	\$45,000.00	\$1.00	\$45,000.00	\$1.00	\$45,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$10,000.00	\$10,000.00	\$40,000.00	\$40,000.00	\$25,000.00	\$25,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$2,000.00	\$8,000.00	\$500.00	\$2,000.00	\$1,000.00	\$4,000.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	6.00	\$4,000.00	\$24,000.00	\$3,000.00	\$18,000.00	\$2,000.00	\$12,000.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	150,030.00	\$0.12	\$18,003.60	\$0.14	\$21,004.20	\$0.12	\$18,003.60
632.01047	RETROREFLECTIVE PAINT PARKING LINE, 4"	LF	4,335.00	\$0.55	\$2,384.25	\$0.50	\$2,167.50	\$1.00	\$4,335.00
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	2,732,059.00	\$0.16	\$437,129.44	\$0.15	\$409,808.85	\$0.15	\$409,808.85
632.0112	RETROREFLECTIVE PAINT PAVE. MARKING, 12" LINE	LF	202,269.00	\$0.40	\$80,907.60	\$0.30	\$60,680.70	\$0.50	\$101,134.50
632.0118	RETROREFLECTIVE PAINT PAVE. MARKING, 18" LINE	LF	3,550.00	\$1.15	\$4,082.50	\$3.00	\$10,650.00	\$2.00	\$7,100.00
632.02	RETROREFLECTIVE PAINT PAVEMENT MARKING, SYMBOL OR WORD	SF	13,050.00	\$2.00	\$26,100.00	\$1.70	\$22,185.00	\$3.00	\$39,150.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
1010.15	FUEL ADJUSTMENT	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00

Totals:	\$670,607.39	\$646,496.25	\$680,531.95
Alt. Totals:			
Totals:	\$670,607.39	\$646,496.25	\$680,531.95



ABC Bid Data

STATEWIDE STRIPING (TURNPIKES) 42265

NON-FEDERAL

				PS&E		PS&E TMI SERVICES INC 4 MASTER DRIVE FRANKLIN, MA 02038			
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
Items									
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	45,000.00	\$1.00	\$45,000.00	\$1.00	\$45,000.00		

618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	45,000.00	\$1.00	\$45,000.00	\$1.00	\$45,000.00	
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$10,000.00	\$10,000.00	\$75,000.00	\$75,000.00	
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$2,000.00	\$8,000.00	\$1,000.00	\$4,000.00	
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	6.00	\$4,000.00	\$24,000.00	\$2,500.00	\$15,000.00	
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	150,030.00	\$0.12	\$18,003.60	\$0.18	\$27,005.40	
632.01047	RETROREFLECTIVE PAINT PARKING LINE, 4"	LF	4,335.00	\$0.55	\$2,384.25	\$2.00	\$8,670.00	
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	2,732,059.00	\$0.16	\$437,129.44	\$0.26	\$710,335.34	
632.0112	RETROREFLECTIVE PAINT PAVE. MARKING, 12" LINE	LF	202,269.00	\$0.40	\$80,907.60	\$0.50	\$101,134.50	
632.0118	RETROREFLECTIVE PAINT PAVE. MARKING, 18" LINE	LF	3,550.00	\$1.15	\$4,082.50	\$6.00	\$21,300.00	
632.02	RETROREFLECTIVE PAINT PAVEMENT MARKING, SYMBOL OR WORD	SF	13,050.00	\$2.00	\$26,100.00	\$9.00	\$117,450.00	
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	
1010.15	FUEL ADJUSTMENT	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	

Totals:	\$670,607.39	\$1,139,895.24	
Alt. Totals:			
Totals:	\$670,607.39	\$1,139,895.24	



PS&E Comparison

STATEWIDE STRIPING (TURNPIKES) 42265 NON-FEDERAL

\$670,607.39

(\$24,111.14)

				A-Bide	der	PS8	&E	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Differenc
Items								
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	45,000.00	\$1.00	\$45,000.00	\$1.00	\$45,000.00	\$0.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$40,000.00	\$40,000.00	\$10,000.00	\$10,000.00	\$30,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$500.00	\$2,000.00	\$2,000.00	\$8,000.00	(\$6,000.00)
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	6.00	\$3,000.00	\$18,000.00	\$4,000.00	\$24,000.00	(\$6,000.00)
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	150,030.00	\$0.14	\$21,004.20	\$0.12	\$18,003.60	\$3,000.60
632.01047	RETROREFLECTIVE PAINT PARKING LINE, 4"	LF	4,335.00	\$0.50	\$2,167.50	\$0.55	\$2,384.25	(\$216.75)
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	2,732,059.00	\$0.15	\$409,808.85	\$0.16	\$437,129.44	(\$27,320.59)
632.0112	RETROREFLECTIVE PAINT PAVE. MARKING, 12" LINE	LF	202,269.00	\$0.30	\$60,680.70	\$0.40	\$80,907.60	(\$20,226.90)
632.0118	RETROREFLECTIVE PAINT PAVE. MARKING, 18" LINE	LF	3,550.00	\$3.00	\$10,650.00	\$1.15	\$4,082.50	\$6,567.50
632.02	RETROREFLECTIVE PAINT PAVEMENT MARKING, SYMBOL OR WORD	SF	13,050.00	\$1.70	\$22,185.00	\$2.00	\$26,100.00	(\$3,915.00)
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00

Friday, March 11, 2022 Page 4 of 4

\$646,496.25

Total: